Chapter 10 Geometry

10.4  Area of Sectors

A sector of a circle is a region bounded by a central angle and its intercepted arc. In the circle
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below £AOB is a central angie measuring 80°, Therefore, A8 is 80°. ZAOB and A5 form a
sector of the circle.
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Example 5: Find the area of the sector formed by ZAORB and AF

Step 1: The area of a sector is a fraction of the area of the circle. First, we must find the
approximate area of the circle.
A = qr?
A =314 x 107 &~ 3.14 x 100 = 314 cm?

Step 2: Now we need to find the fraction of the circle that the sector occupies,

Remember that the sum of the measures of the central angles of a circle is
360. The fraction that the sector occupies is the measure of the central angle,
denoted by the letter N, divided by 360.
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360 360 9
Step 3: Now we can calculate the approximate area of the sector.

Fraction that sector occupies =

N G28
A= égﬁ?rrg o~ 5 X 3.4 em? x 102 ~ 5 cm?
Simplified, A ~ 697 cm?

Each of the following is a measurement for a central angle. Calculate the fraction of a circle
that the central angle occupies. Simplify your answers,

1 300 3. 16° 5. 45° 7.120° 9, 15° 11. 60°
5 9o 4. 52° 6. 72° 8. 270° 10.108° 12.90°
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Find the area of the sector bounded by ZXV 7 and X7, in each of the following circles. Use
T & 3.14.
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